[ Efficiency vs vertpos |
0.2

0.18F
0.16F
0.14F
0.12F--

0.1
0.08
0.06
0.04
0.02

TTIT RIT[I7 1]

=
TT T T T

0.95

1072 107

10

[ fake+duplicates vs vertr |

0.2

l_ """""" ' """""" "' """"

o

e L B

P S DU

—=— Orig/DQM_orig_MS

Efficienq —e— pixelLessOrig/DOM_mod_Ms

0.2
0.18F -

0.16F -
0.14F -+
0.12F -+

0.4

0.04F -+
0.02F-----+
Vel

o *#%

........................

........

[y
TTTT] T

0.95!

[ Efficiency vs. sim PV z |

0.1
0.09
0.08
0.07
0.06)
0.05
0.04
0.03
0.02

0.0

=
T
i
+

20

7 RN RS S T T
0.6+ B

0771 IR RS P SO RS

0

0.5
0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05]

=
I
i
+




	Contents
	Page 1


